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<html>
<head>
<title>gglogon3. htmI</title>
<link rel=stylesheet type="text/css” href="style.css”>
{script type="text/javascript™>
=
var win;

function gglogon ()

{
var user, pass, args, host;
/] ERONEIEETS
args = “?gglogon=dummy”;
/| A=Y —BELIKRT—FERET S
user = document. gglogonForm. gglogonUser. value;
pass = document. gglogonForm. gglogonPass. value;
host = document. ggl.ogonForm. gglogonHost. value;
if((user. length = 0) | | (pass. lenght = 0))
{

alert("2—H—KE/NRRAT— RIZFEABKTEEEA, )
return;

}

// BENNT AR EHAILTHD

i f (host. length > 0)

{

}

args += '&user=" + encodeURIComponent (user) ;
args += '&password=" + encodeURIComponent (pass) ;
args += '&autoclose=true’ ;

/] A=Y —BERRT—FEHLITT S
document. ggl.ogonForm. gglogonUser. value
document. gglogonForm. gglogonPass. value
document. gglogonForm. gglogonHost. value
/] WA EOTRIF VNIEBEITS
win = window. open(”logon. html” + args, “_blank”, “width=240, height=120") ;
setTimeout (“gglogonSub () “, 3000) ;

args += '&host=" + host;

}

function gglogonSub ()

{
// BTHMBOIA 2 F%EFLCS
win.close();

}

/] >

{/script>
</head>




<body>
<center><img src="logon_logo. png” border=0></center>
<form name="gglogonForm™>
<I— # : BB —> <center><table border=1><tr><td>
<{table>
<tr>
<td colspan=2" align="center”>
<p>
GO-Global —/s—~#EHELET, <br>
A—H—BE/INRT—RZE#AHALTTELY, <br><br>
<>
</td>
</tr>
<tr>
<{td align="right”>a1—H—%&{/td>
<td><input type="text” size=30 name="gglogonUser " ></td>
</tr>
<tr>
<td align="right">/8 X — F</td>
<td><input type="password” size=30 name="gglogonPass”></td>
</tr>
<tr>
<td align="right">E#Es (L&) </td>
<td><input type="text” size=30 name="gglogonHost"></td>
</tr>
<tr>
<td colspan=2 align="right”><input type="button” value="Q%#4 >"
onc | ick="gglLogon () “></td>
</tr>
<{/table>
= 1 8T —> /td><{/tr><{/table><{/center>
</form>
</body>
</html>
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